G Y R wom | | S8 Jea

1 NERURAE 180 R/NERK0. 1g  FREE100g (BR) A7 s ERT 1 = 2,000 (HIKACCO

2 InER=CRAE 180 /NERKO. 1g  FRE100g (BR) A R ERT 1 =) 1, 500 fE A

3 IERAKAE L80 w/NERK0. 1g  FRE100g (BR) A HfEaR R ERT 1 = 2,000 5N

4 JERAKFF 180 BNBRE0. 1g  FEE100g (BR) A HfGasRUERT 1 = 1, 500 (PN

5 IERAKAE L80 w/NERKO. 1g  FRE100g (BR) A HfEaR R ERT 1 = 1, 500 5N

6 InER=CRAE 180 BNBRE0. 1g  FEE100g (BR) A HfGasRUERT 1 = 2, 000 5PN

7 IERAKAE L80 w/NERKO. 1g  FRE100g (BR) A HfEaR R ERT 1 = 2,000 5N

8 JERAKFF 180 BoNERE0. 1g  FER100g (BR) A HfgasRUERT 1 = 3,000 fEA

9 IER=CRAE 180 B/NERK0. 1g  FRE100g (BR) 1 MR B ERT 1 = 2, 160 A U Y%
10 InER=URAE 180 BoNERK0. 1g  FREE100g (BR) A EfTRERERT 1 = 2, 160 (p S s
11 AN AR FE T 1018 (KR A LG5 1 = 32, 400 A U Y%
12 A PR T 10178 (B A T5HR 1 = 33, 000 fEA




